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1. Valentina has counted on from 36 and stopped at 40.

Count on from 2 and stop at 10.

1 2

36 | 37 | 38 | 39 | 40

2. Max has counted on from 27 and stopped at 30.

Count on from 4 and stop at 10.
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1. Valentina has counted on from 36 and stopped at 40.

Count on from 2 and stop at 10.

1 2

36 | 37 | 38 | 39 | 40

2. Max has counted on from 27 and stopped at 30.

Count on from 4 and stop at 10.
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3. Veronica has counted on from 26 and stopped at 30.

Count on from 2 and stop at 10.

1 2

26 | 27 | 28

29 | 30

4. Abdul Rahman has counted on from 48 and stopped at 50.

Count on from 5 and stop at 10.

3. Veronica has counted on from 26 and stopped at 30.

Count on from 2 and stop at 10.

1 2

26 | 27 | 28 | 29 | 30

4. Abdul Rahman has counted on from 48 and stopped at 50.

Count on from 5 and stop at 10.
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